SHE6EE BRERKR—LALA—BESE NIZFTEE
<URADE> (BAAE : 1)
¥ B BIEE REE R Jr—
N NES THEE (A) | TEE (B) (A—B)
1 =EIA 840, 000 750, 000 90, 000
EESTIEN 840, 000 750, 000 90, 000|5, 000 X 15044 =750, 000
2 ZIMENA 215, 000 85, 000 130, 000
R — b~ LS —FHE 25001 X 604 =30, 00011
1 FHESSBIMEIA 215, 000 85, 000 130, 000| - HEBF{EX5001 X 3042 =15, 0001
7'v v 7 BIEHMES2, 000 X 1044 =20, 000
WEZ 1 v 7 HHES2, 000 X 104 =20, 000
3 Bkl A 1, 000 90, 000 /89, 000
|1 Wb 1,000 90, 000 AB9, 000 E~ = v 7 HHEZ B 4290, 000H (3 %))
4 HEDUA 3,000 1,000 2, 000
EESN 3, 000 1,000 2, 000| 8 &7
5 e 1, 049, 000 802, 000 247, 000
|1 RiAEE e 1, 049, 000 802, 000 247,000
& &t 2, 108, 000 1, 728, 000 380, 000
<ZHDE>
¥ B BIEE KEE R B o=
ARS | N5 TEE (A) | FEHE (B) (A—B) "
1 = 200, 000 100, 000 100, 000
|1 2w 200, 000 100, 000 100, 000[B5 %, BRFR5F100, 000H]
2 HBE 590, 000 390, 000 200, 000
1 i 120, 000 10, 000 110, 000|575 JRy iz 10, 000
2 EfEERE 200, 000 200, 000 O| T kt, HEAHIN
3 IR 80, 000 10, 000 70, 000| BRI
4 EUKE 60, 000 60, 000 0|5+ 7KIBE S AR
5 ey 30, 000 10, 000 20, 000| 7 A )L AN Z 2 — kL, BT
6 FHEEIE® 100, 000 100, 000 0
3 FHEE 800, 000 720, 000 80, 000
R LR —FEL250, 0001
FEMERHE 2250, 000/
1 WHESE 600, 000 550, 000 50, 000| 7' 2 v 7 BIAHEZ80, 000
MEZ v > 7 HEZ220, 000
NMB LD T2 8 D SR B R4 28+ 93150, 000
P C U —2¥}7, 700H X 12 4 =92, 400
2 JR¥R - RAEATTEE 200, 000 170, 000 30,000]Z o o m4FEMZRKIT A & 2 227, 600
SREF 50, 000
4 A4 239, 000 135, 000 104, 000
LEASNV =SS 135, 000
1 A4 239, 000 135, 000 104, 000] (D@1, 500 X 60FF2EFT =90, 0001
@2\ B L9044 X 500 =45, 000
5 TlH#E 100, 000 10, 000 90, 000
R 100, 000 10, 000 90, 000
6 fie 179, 000 373, 000 /194, 000
|1 wEEs s 179, 000 373, 000 /A 194, 000
& &t 2, 108, 000 1, 728, 000 380, 000
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